Multiply by Positive Powers of Ten (A)

Find each product.

2.039 x 1,000 = 2.45 x 100 =
5.3381 X 10 = 6.6 X 1,000 =
7.6309 X 100 = 7.3 x10 =

49 x10 = 6.442 X 10 =
7.026 X 100 = 8.15 X 10 =
1.5444 x 10 = 2.387 X 100 =
5.146 x 1,000 = 3.081 x 100 =
2.966 X 100 = 8.05 x 1,000 =
7.828 x 1,000 = 0.52 x 1,000 =
2.06 X 1,000 = 2.2%x1,000 =
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Multiply by Positive Powers of Ten (A) Answers

Find each product.

2.039 x 1,000 = 2,039 2.45 x 100 = 245
5.3381 x 10 = 53.381 6.6 X 1,000 = 6,600
7.6309 x 100 =763.09 7.3x10=73

49 x10=49 6.442 X 10 = 64.42
7.026 X 100 = 702.6 8.15x10=81.5
1.5444 x 10 = 15.444 2.387 x 100 = 238.7
5.146 x 1,000 = 5,146 3.081 x 100 = 308.1
2.966 X 100 = 296.6 8.05 x 1,000 = 8,050
7.828 X 1,000 = 7,828 0.52 x 1,000 =520
2.06 x 1,000 = 2,060 2.2 x1,000=2,200
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